__________________
4 м 2 см=………….см
477 000 г=……..…..кг
300 мм=…………..см
23 т 50 кг=……..….кг
4 ц 6 кг=…………....г
6 км 40 м=………..м
51 км 30 м=……….см
500 мм=………….см
35 дм=……….…мм
67 ц 9 кг=…………кг





__________________
2 м 3 см=………….см
417 000 г=……..…..кг
600 мм=…………..см
43 т 70 кг=……..….кг
7 ц 6 кг=…………....г
5 км 30 м=………..м
81 км 20 м=……….см
800 мм=………….см
15 дм=……….…мм
87 ц 2 кг=…………кг
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520 см=………..мм
6400 мм=………дм
3 м=……………мм
720 м=…………см
800 мм=……….см
2480 мм=………дм
1460 дм=………см
57 м 8 дм 6 см=……….см
1 кг =……..…г
10 кг 100 г =………….г
162 кг 856 г =………...г




470 см=………..мм
9100 мм=………дм
7 м=……………мм
510 м=…………см
400 мм=……….см
1470 мм=………дм
2450 дм=………см
48 м 4 дм 3 см=……….см
1 кг =……..…г
40 кг 400 г =………….г
151 кг 452 г =………...г
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